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Single family, large lots, rural example 
(55 3 acres woods)(55.3 acres woods)

Pre development TN load = 28.1 lbs/yr
Post development TN load = 32.1 lbs/yr 
(stormwater/ESD) + 167 2 lbs/yr (septic) =(stormwater/ESD) + 167.2 lbs/yr (septic) = 
199.3 lbs/yr
Net post development TN load = 199.3 –
28.1 = 171.2 lbs/yr 
Per unit load = 171.2/11 = 15.6 lbs
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Townhouses, small lots, rural example (~47 
acres woods)

Pre development TN load = 24.6 lbs/yr
Post development TN load = 126.4 lbs/yr 
(stormwater/ESD) + 0 lbs/yr (sewer) = 
126.4 lbs/yr
Net post development TN load = 126.4 –
24.6 = 101.8 lbs/yr 
Per unit load = 101 8/~280 = 36 lbsPer unit load = 101.8/ 280 = .36 lbs
Per unit load with sewer offset = (101.8 + 
1469.5)/~280 = 5.6 lbs
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Commercial development, greenfield (1.9 p , g (
acres woods)

Pre development TN load = 1 lb/yr
Post development TN load = 8.3 lbs/yr 
(stormwater/ESD) + 0 lbs/yr (sewer) = 8.3 
lbs/yr
Net post development TN load = 8.3 – 1 = 
7 3 lbs/yr7.3 lbs/yr 
Per unit load = 7.3/1 = 7.3 lbs
Per unit load with sewer offset = (7.3 + 
13.8)/1 = 21.1 lbs
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Single family, large lots, rural example (7 
16 d )

Pre development TN load = 83.2 lbs/yr
Post development TN load = 129.3 lbs/yr 
(stormwater) + 212 8 lbs/yr (septic) =

acres ag, 16 acres woods)

(stormwater) + 212.8 lbs/yr (septic) = 
342.1 lbs/yr
Net post development TN load = 342.1 –
83.2 = 258.9 lbs/yr 
Per unit load = 258.9/14 = 18.5 lbs
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Commercial re‐development (11.1 acres 
industrial)

Pre development TN load = 177.1 lb/yr
Post development TN load = 104 lbs/yr 
(stormwater/ESD) + 0 lbs/yr (sewer) = 104 
lbs/yr
Net post development TN load = 104 –Net post development TN load   104 
177.1 = ‐73.1 lbs/yr 
Per unit load = ‐73.1/1 = ‐73.1 lbs
Per unit load with sewer offset = (‐73.1 + 

)/ lb136.5)/1 = 63.4 lbs
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Urban, 
commercial re‐
development 
with restorationwith restoration
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